B 1

IKEFEYPDHEEHIEICFRLIBRESFREBEEDRESR

SEELEBEOREZITIKESENOREHLICEIEREEZEREEZLEDEIIRD
EHBYTY (REEBREEEIIOVWTREISE125H) .

EBERNMEESIEE 1 EHEIENLE TS ETICHBITSHEEIZHZETINE
SHDHEEZTEDIENDH (BMIE3IAERMAESTEIE) E3EDHREIC
EOF  KEFBEYOHEHLICRLIEFEEZHRRBEE (FRIBFI12ARESLS
TEI43E) #REL. TROEREDORSOAXAKBEICE T2 KEBHEMHEE
FRHBREICOWTHROEEBEHFLICHRELET . GH. FEICKRET HEE
BEIUZEEBELZEDIETOLATOEIGERITHAEELET,

EEDES HEEE
4—JOFE—2— (4—9007zx=)) —1—IhrFIAFIL—5 0.70ug |
—r)ZLAOAFIIEO—IL—3—AHIAR=ZFrYJL (BlIZHOIILD
T+ EIL)
2—APFFXFTIFIL=(RS) —2— (4—tert—TF)LTz= 6.3ug /|
W) —2—-—37/)—-3—F#FY—-3— (a, a, a—r)Z7)LA0O0—
o—kUJJ) FREFF—F (AEHEPTILA LT TV)

3— (2, 4—>/0A7xz=Z)) —2—#4FY—-—1—FFHXED 100 g7 |
[4. 5] TH—3—ITo—4—A)L=2, 2—SAFILTFS5—F
(AlgxEQHYO7TY)

(Z) =2’ —AFLF7EIIT/ V=4, 6—UAFILEYIDY 620 4 g |
—2—A)LEFSOY BIBTTVLYY)

(Zz) —2—tert—FILA2/—-3—4YJAEIL—5—T=zx 80ug/|
Z)L—1, 3, 5—FF7CTFTFU—4—F2 (MK ITTnoxzo
)

O—4—7JAE—2—4-007zx=Z)L=0—IF/IL=S—7AFIL= 0.077u g/ |
RRAROFA7—F (Bl&£TO0T7x/HKR)

4v7oEL=[(S) —1—{[(R) —1— (6—7)LAO— 870ug/|
1, 3—RUYFF7Y—IL—2—4)L) TFIL] BILNEAIIL} —2
—AFILTAEIL] hibnnwe—F (BEBERFFN)AILTAYT0O
EIL)

S—2, 3—YkefFO—-5—-A+FxL—2—-—FFY—-1, 3, 4—F 0.11ug/ |
TFOTFY—IL—3—AILAFIL=0, O—CAFII=FRAFASFF
7—bF (ABEAFEFAUXIEIDMTP)




(1RS, B5RS; 1RS, 5SR) —5— (4—40ORY D)) 210 g7 |
-2, 2—CAF)IL—1— (1H—1, 2, 4—FrYFPJy—)L—1—
AILAFIL) oaRYE I —)L (RLAMaFY—)IL)




